BUTT HINGE FOR ALUMINIUM FRAME AS-HG-AL

o~ . » Special hinges fitting perfectly with the mounting groove of aluminium

O 5 O i C O frame. No additional washers are required.
! o Plastic bushes provide smooth movement and prevent metal-to-
- - ‘ P metal friction.
(o e ‘2 1
o Aluminium alloy material, light weight and excellent design.
=X « Stainless steel hinge AS-HG-SUS P of the same type also available.
(oA ¥ [s)
TORQUE [Remarks]
HINGES * Load capacity is the value when using two hinges. For calculation
o j o) conditions, please refer to INDEX IE .
DAMPER 24055 11 43 2x04.5 085
HINGES 7 .
Selection Tool 16111~ ‘
LIFT ®\ E
ASSIST ‘ @ T @
HINGES @\ % J o 233 @
DETENT @
HINGES
Hinge Selection ®/ ~ +
conceaEd  _No. Part Name Material Finish / Colour @)/+254 18,@5 ®/
HINGES 0 T ( : )
0 gggig Aluminium Alloy Anodised Silver C:‘:E‘FF P 1
BUTT a] Shaft Stainless Steel (SUS303) Plain Qe 2 =
HINGES 0 Bush POM AS-HG-AL-M3020 - AS-HG-AL-M3030
Natural (Drawing A) AS-HG-AL-M3040
] Washer PEEK AS-HG-AL-M4040
PIANO [ | E-type Retaining Ring | Stainless Steel (SUS304) - (Drawing B)
HINGES —
RoHS | CAD Item Code ltem Name Drawing W1 | W2 | Ws | Wa | Ws | Load Capacity N/2 pcs | Load Capacity kgf/2 pcs | Weight (g)
EE| 170-011-679 | AS-HG-AL-M3020 | DrawingA |0 |0 |0 |0 | O 41
STEP Ed| 170-011-680 | AS-HG-AL-M3030 50 | 25 16 45
HINGES X 25— 16 147 15 e
EE| 170-011-681 | AS-HG-AL-M3040 | DrawingB | 57 48
3 21 T —
UFT- EE| 170-011-682 | AS-HG-AL-M4040 64 32 21 53
OFF Refer to :p267, I3 . P43
HINGES
Eill\l{lgllés E&@ Parts Set for Installing to Aluminium Frame Piease refer to the series introduction page P for details about AS series.
[AS Parts Set] Parts set of screws and AS nuts
f'm:g"ég € : Roti | CAD I RelelsF Item Name | Aluminium Frame Parts Weight (g)
Groove Width :g?\le AiéHgﬁAL'ngO “pe
CLEAN AS-HG- 6 ut AS-8MS5 : 2pcs
ROOM € — | 170-041-810 ALM302 G m?\l, dth Hexagon Socket Countersunk Head Screw Mx 12:2pcs | —
HINGES -M3020-8 roove Width | syt AS-6h4 : 2cs
« 8 mm Hexagon Socket Countersunk Head Screw Méx 10 2pcs
HINGES FOR .
ALY Hinge AS nut ED 170001811 | ASHE: Groove Width :'S”%eufszseMngﬁsomc _
AL-M3030-8 8 mm Hexagon Socket Countersunk Head Screw M5x 12 : 4pcs
DROP [Installation] Groove Width | Hinge ASHG-ALM3040 : 1pc
HINGES AS Nut AS-10M5 : 2pcs
AS-HG-
— | 170-041-812 SHE 8 mm. Hexagon Socket Countersunk Head Screw M5x 16:2pcs | —
GLASS AL-M3040-10 Groove Width AS NutAS-8MS: 2pcs
DOOR 10 mm Hexagon Socket Countersunk Head Screw M5x 12 : 2pcs
HINGES .
; Hinge AS-HG-AL-M4040 : pc
AS-HG- Width
_ | 170-041-813 | ASHC Groove Width | o8 5805 docs -
lexagon Socket Gountersunk Head Screw M5x 16 : 4pes
SPECIAL AL:M4040-8 8§ mm Heragon Socket G K Head Screw M5x 16.:4p
HINGES
g e : Hinge AS-HG-AL-M4040 : 1pc
— [170-041-814 ﬁf ;fo o0 Grof(‘)’e WIdH | o NutAS-1OMS - 4pcs -
[Dimensions] 3 g mm Hexagon Socket Countersunk Head Screw M5x 16 : 4pcs
AS-HG-AL-M3020 AS-HG-AL-M3030 AS-HG-AL-M3040 AS-HG-AL-M4040
43 T 2xMdx10 50 - 57—+l | 2xMBx16 64— et
T o2 e tHH e e H-1l/e chana I
LRy = ** } 161 21-H{i 20l LY
2M5x12 AT S o 4xMdx12 4= éi, axtisiiz HOH S 1 f 4xM5x16 gt @7; i,oo
i F 00 — |4 I 33 —||% ] Q38 § J| ©©
Cln 2 Paa Ry ogel ! | | ool | efjer
B4l & = 254 x ST
18-+ 2 e 31 ! S T
© < L:j Y <
o L ]
? 21 © o e
30 S
AS nut : 20 AS nut
Refer to I : P20, IEI : P526
Industrial Component Hardware Catalogue R .
No.400 SU.GMS!NE https://global.sugatsune.com/

Update: 05.10.2023



